G =
€0-399'T -—+ €0-4dS€E'e
co0-dIgL —+ 10-3es'e
10-de6'T -+ €0-400'T
21-3eg2
10-309°2
A9/ AS1auy
001 010

all 0 =

meNX
= WJON
= [A9¥] L

= xXni4

2jed oadg

! LR

I Lo 14l

y-0T1

e-01

L2c0128—-4'GESOLIT SXd<

A3/ K3asuqg
001 o1'o

HI_ 1 _ LI 1 1 1 _ UL -

- w

- Lﬁtj# | + | E

nl_ 1 | T A T A R | 1 L1111 Im

A9¥ /ABasuy
001 010

T T [TTT T T T 1 T [TTTT T F
- 1
o
) . _
-
o] B _
=3
() | _
/ = —
o L ]
5 - ]
N L ]
; [ .
o
a | —+ ]
= h\

H_ 1 v 0 1 [111 11 H

Apqq,wured €100 802cc6

o
s[enpisay

2-01

1-0T1

(A®¥ s)/syuno)



